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2nd term Year 2013 	
	Lab(7)


Assume you have the following declarations:
#include <iostream>
#include <string>
using namespace std;
//////////////////////////////////////////////////
class staff {
private : 
	string name ;
	string address;
public:
	staff(string n , string ad)	{	name=n; address = ad; 	}
	 virtual void display(){cout <<"name = " <<name <<" ,  address = " <<address;}
	};
//=============================================
class SalaryEmployee  : public staff {
private : 
	int salary ;
public:
	SalaryEmployee (int s , string n , string ad) :staff(n,ad)
	{ salary = s;}
	void display () { staff::display(); cout<<"   salary is = " <<salary <<endl;}
};
//=============================================
class HourlyEmployee  : public staff{
	private : 
	int hourly_pay  ;
public : 
	HourlyEmployee (int h , string n , string ad) :staff(n,ad){hourly_pay=h;}
	void display () { staff::display(); cout<<"   hourly_pay is = " <<hourly_pay <<endl;}
};
//=============================================
class ContractEmployee  
{
}; 
//=============================================
//print function

///////////////////////////////////
void main (){

}

1. Create a class called ContractEmployee that inherits class Staff as public and has contract duration as a private element. 
0. The constructor for this class should call the constructor of class Staff as well as initialize its new private elements from the arguments passed to it. 
0. The display function of this class is to call Staff’s display function. And display contract duration
In main 
1. Create an array of 6 pointers to class Staff. 
1. Dynamically create 2 objects of class SalaryEmployee, 2 objects of class HourlyEmployee and 2 objects of class ContractEmployee . fill the objects with information from user as shown below .
HINT: You will need 3 for loops to fill the array
1. [bookmark: _GoBack]Finally write a function (regular function not in a class) that prints a report of the 6 objects. 
[image: ]The function will use only 1 for loop and go over the array one by one each time calling the object’s display function. It does not matter the type of object the array component points to since the pointer can point to all types. This is the advantage of polymorphism.
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name = nouf
address = riyadh
salatry is : 15000

name = ahned

address = riyadh
salatry is © 13000
address = jeddah

hourly salatry is : 250
name = safar

address = jeddah

hourly salatry is : 150
hame = hind

address = danman
contract duration 3
name = abdullah
address = riyadh
contract duration 4

£rom print Ffunction
nouf . address = riyadh  salary is
ahned”, “address = rivadh salary is
sara . address = jeddah hourly_pay is - 258
safar’, address = jeddah hourly pay is = 158
hind . address = dammam  contract.duration is = 3
abduliah . address = riyadh contract_duration is = 4

ross any key to continue . .





image2.png




